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Instructions ; v
@ st 16 minutes time has been cllotted for the \ Toove Ve
candidates to read the Question peper. " e \
(i) Thene are in all nine questions in this . 1 ‘
Question paper, il R T S
(1) Al questions are compulsory, " '
(iv) In~ the beginning of cach question, the number i AT o aloga by
of parts to be attempted has been clearly =
mentioned, "
. A X . .
ll'i Mm*..'.:.-e allotted to the questions are indicated Livy ‘., . TR RN
against them. = - .
wi)  Start from the first question and proveed fo W@ What is the onder of ditferential equatin
the last. 2 . o
LA i [f Y . l.f.\ ) U - .
i) Do not waste your time over g Question vou 2T e X e ‘
' cannot solve. ) dx® -
(i) 2 u
1. Attempt all the parts of the tollowing : G 0 v Nt definad
(@) The number of binnry operations o
o AAAOTE On the —_ + x T
set A =g, b} is ‘ 1 @ I a ix a  unit wveter and
G 10 (D 16 (¥F-@) . \x + &) = & then find the
(i) 20 iv) 8 value of ||,
(b)  Which of the following statements is w 1 W 2
true ? ]
. . ) i) 1
(i) Determinant is n SquAre matix (1) 38 uv 3
! (i)  Determinant is a number related
_ ‘oamatrix. 2. Attempt all the parta of the fellowing :
(ili)  Determinant is a number related ; ed
to a square matrix. ' (a)  Prove that the function £: R = R defin
(iv)  None of these by Alx) = v i3 vie-one and eato.
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Buppose &t A and B are independent

verts w2 DA = 08 and D) = 04,
then fnd 212 | B).

Atterapt ald the paves of the following :

W WR = ek AL Q) (4, 6), (7, 8), (3, T,
then fod D xahue of RIORY.

(b Prove thag
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] won(2) ()

(©)  IfA and B v syware matrices of order n

and alse wowraiingalar, then show that
(AB) = R 2%

(d) The probabilxx of A winning the race is
% and that off R % :i— In this race, find
the probakility $hg neither A nor B can
win the races
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w) Find two positive cu=bers whose sum u o et N Wit Betanaen he
16 and the sum cf their squares s RSN ot ‘:. l\': gl e e
minimum. 6 LN EL AN R
b W) Solve the dlﬂ.&mu"n eqm W Nnd e aguatum W YIS paasRing
x>
(x dy — ¥ dx) ¥ sin| =1 chavaadt e paant ¢ T3, whose gt
h, _ ¥ Ture Aty gt (v v has geadion "}‘:‘, . R
(wvaxr+xdy)xcos =1. 5 v
g X/ O T et of toachere ave vacant i 2
()} Three vectors c. > s.nd £ saticfr the suhael, e man and one woaman e
condition @ + & - 7 = 0. If |[a] =3, sallal fwr interview. The paolbability of
|6 | =4and |T] = _?., then find the solavting he wale teachor is . and that
-5 RoLx - - . S
g valueofp=a .5 +d . +7 . 4. =] of selevting the temale teacher iz Bind
()  Differentiste y = x* + (cos 2% with he prebabiliey that
respect to x. 5 W' both are selected, and
G both are net selected, 3
$.  Attempt any five parts of ihe following:: 7o Artompt any onre part of the tollowing
(a) Is the qmapping 7+ ® = R, defined by 0 SN RN
¢ flx) =x%, ¥ x € R wieoe R is a set of resl] @ WA=1 4 § | thentidA™, 8
numbers, one-one oy ? 3 ! .
18 4
() Find the area of {2 region between . . . .
h bola <2 ) on . B Rohve the tollowing equations using the
; e parsbela 3= 4 #nd the cinde matrix method § §
4% + 4y% = 9. 5

W+ive+ ke =4
'L'C—Q‘.\‘*-m'ul
W=

(¢} Find the maximum xahw of 2 = 40 +¥
subject to the following coastraints
x+y <S50, I+ xSN), g\ S < Sr+ O —
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. Attenapt any one part of the following :

W) Find the differential equation of n family

ol parnbolas whose vertex is at the origin

i s axds is towards the positive x-axis.
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